SsWJ

public class Queue { // Kein Formatierungsvorbild!!!
private (Node head, tail;
private int nCO El ens;

ung Selbsttest (1)

public Queue() {
head = new QNode(0);
tail = head;
nCof El ens = O;
}
public void insert(int val) {
(Node p = new QNode(val);
tail.next = p;
tail = p;
nCf El emrs  ++;
}
publ i ¢ bool ean hasNext () {
return nO El ens | = 0O;
[/return head !'= tail:

}



Selbsttest (2)
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public int renove() {
if (head '= tail) {
head = head. next;
nCf El ens - -;
return head. val ;
} else {
t hrow new NoSuchEl enent Excepti on(" Queue enpty");

}

}
public int getSize() {

return nO El ens;

}

public void clear() {
head = tail;
nOf El ens = O;

}

}
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public void insert(int x) {
queue[tail] = x;
int taill = (tail + 1) % queue. | engt h;
if (taill == head) { // resize variant 1
int[] newQueue = new int[queue.length * 2];

int j = 0;
for (int i = head; i < queue.length; i ++) {
newQueue[j] = queue[i];
]+t
}
for (int i =0; i <taill; i ++) {
newQueuel[j] = queue[i];
]+t
}
tail =j;
head = O;
gqueue = newueue;
}
el se {
tail = taill;
}
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public void insert(int x) {
queue[tail] = x;
int taill = (tail + 1) % queue. | engt h;
if (taill == head) { // resize variant 2
int[] newQueue = new int[queue.length * 2];
System arraycopy(queue, head,
newQueue, 0, queue.length - head);
System arraycopy(queue, O,
newQueue, head, taill);

ze bel Queue (Array) 2

tail = queue.l ength;
head = O;
queue = newQueue;
}
el se {
tail = tail1;
}



